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<I-- W Are the Crystal ___ (silent gens) -->

<reci pe nane="Sagmill: oreGarnet Oe" required="fal se">
<sagm | I'i ng energy="3600">
<i nput nane="oreGarnet" />
<out put nane="gentarnet" anount="2" />
<out put nane="gentarnet" chance="0.5" />
<out put nane="oredi ct: cobbl estone” chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagmill: oreHeliodor Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput name="oreHel i odor" />
<out put nanme="genHel i odor" amount="2" />
<out put nane="genHel i odor" chance="0.5" />
<out put nane="oredict:cobbl estone" chance="0.15" />

</ sagm lling>
</recipe>
<reci pe nane="Sagmill: oreBeyrl Ore" required="fal se">

<sagm | I'i ng energy="3600">
<i nput nanme="oreBeyrl" />
<out put nane="genBeyr!|" anmount="2" />
<out put nane="genBeyrl|" chance="0.5" />
<out put nane="oredict:cobbl estone" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagnill: orelndicolite Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput name="orelndicolite" />
<out put nane="gem ndi colite" amunt="2" />
<out put nane="genl ndi colite" chance="0.5" />
<out put nane="oredict:cobbl estone" chance="0.15" />

</ sagm | ling>
</recipe>
<reci pe nane="Sagm | |: oreAquamarine Ore" required="fal se">

<sagm | I'i ng energy="3600">
<i nput name="or eAquanari ne" />
<out put nane="gemAquanari ne" ampunt="2" />
<out put nane="gemAquanari ne" chance="0.5" />
<out put nane="oredi ct:cobbl estone" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagnmill: orelolite Oe" required="fal se">

<sagm | li ng energy="3600">
<i nput name="orelolite" />
<out put nane="gemolite" anount="2" />
<out put nane="gemolite" chance="0.5" />
<out put nane="oredict:cobbl estone" chance="0.15" />

</ sagm | ling>
</recipe>
<reci pe nane="Sagmi | |: oreAgate Ore" required="fal se">

<sagm | I'i ng energy="3600">

<i nput nanme="oreAgate" />

<out put nane="gemAgate" anmount="2" />

<out put nanme="gemAgat e" chance="0.5" />

<out put nane="oredi ct:cobbl estone" chance="0.15" />
</sagm | ling>



</ recipe>

<reci pe nane="Sagmll: oreMrganite Ore" required="fal se">
<sagm | li ng energy="3600">

<i nput nanme="oreMrganite" />

<out put name="gem\br gani te" anount="2" />

<out put nane="genlbrganite" chance="0.5" />

<out put nane="oredict:cobbl estone" chance="0.15" />

</ sagm | ling>
</recipe>
<reci pe nane="Sagm|l: oreOnix Oe" required="fal se">

<sagm | I'i ng energy="3600">
<i nput name="oreOnyx" />
<out put nane="gentnyx" anount="2" />
<out put nane="genmOnyx" chance="0.5" />
<out put nane="oredi ct:cobbl estone" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagnmill: oreQpal Oe" required="fal se">

<sagm | li ng energy="3600">
<i nput name="oreQpal " />
<out put nane="genpal " anount="2" />
<out put nane="genmpal " chance="0.5" />
<out put nane="oredict:cobbl estone" chance="0.15" />

</ sagm | ling>
</recipe>
<reci pe nane="Sagmll: oreCarnelian Oe" required="fal se">

<sagm | I'i ng energy="3600">
<i nput name="oreCarnelian" />
<out put nane="gentCarnel i an" anount="2" />
<out put nane="gentCar nel i an" chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagmill: oreSpinel Oe" required="fal se">

<sagm | li ng energy="3600">
<i nput nane="oreSpinel" />
<out put nane="genSpi nel " anount="2" />
<out put nane="genSpi nel " chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</sagm | ling>
</recipe>
<reci pe nane="Sagmill: oreCitrine Ore" required="fal se">

<sagm | I'i ng energy="3600">
<i nput name="oreCitrine" />
<out put nane="genCitrine" amount="2" />
<out put nanme="genCi trine" chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagmill: oreJdasper Ore" required="fal se">

<sagm | i ng energy="3600">
<i nput nanme="oreJasper"” />
<out put nane="gemJasper" anount="2" />
<out put nane="gemJasper" chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</sagm | ling>
</recipe>
<reci pe nane="Sagm | |: oreCol denBeryl Ore" required="fal se">

<sagm | I i ng energy="3600">
<i nput name="oreCGol denBeryl " />



<out put nane="gentol denBeryl" anount="2" />
<out put nane="gentCol denBeryl " chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagnill: orelMldavite Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput nane="oreMl davite" />
<out put nane="genlbl davi te" anount="2" />
<out put nane="genibl davite" chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</sagm | ling>
</recipe>
<reci pe nane="Sagm | |: oreTurquoise Ore" required="fal se">

<sagm | I'i ng energy="3600">
<i nput name="oreTur quoi se" />
<out put nane="genilur quoi se" anount ="2" />
<out put name="genTur quoi se" chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagmill: oreMonstone Ore" required="fal se">

<sagm | i ng energy="3600">
<i nput nane="or eMbonst one" />
<out put nane="genlbonst one" anount="2" />
<out put nane="genlbonst one" chance="0.5" />
<out put nane="net herrack" chance="0.15" />
</sagm | ling>
</recipe>

<reci pe nane="Sagm | |: oreBlueTopaz Ore" required="fal se">
<sagm | I'i ng energy="3600">
<i nput name="oreBl ueTopaz" />
<out put nane="genBl ueTopaz" anount="2" />
<out put nane="genBl ueTopaz" chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagnill: oreViol et Sapphire Ore" required="fal se">

<sagm | I'i ng energy="3600">
<i nput name="oreVi ol et Sapphire" />
<out put nane="genVi ol et Sapphi re" anmount="2" />
<out put nane="genVi ol et Sapphire" chance="0.5" />
<out put nane="net herrack" chance="0.15" />
</sagm | 1ling>
</ recipe>

<reci pe name="Sagm ||: orelLepidolite Ore" required="fal se">
<sagm | i ng energy="3600">
<i nput name="orelLepidolite" />
<out put nane="genlLepi dolite" amount="2" />
<out put nane="genlepidolite" chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</ sagmlling>
</ recipe>
<reci pe nane="Sagmill: oreAnetrine Ore" required="fal se">

<sagm | I'i ng energy="3600">
<i nput name="oreAnetrine" />
<out put nane="gemAnetrine" anmount="2" />
<out put nane="gemAnetrine" chance="0.5" />
<out put name="net herrack” chance="0.15" />
</sagm | ling>
</recipe>



<reci pe nane="Sagmi | |: oreBl ackDi anond Ore" required="fal se">
<sagm | I'i ng energy="3600">
<i nput nanme="oreBl ackDi anond" />
<out put nane="genBl ackDi anond" anount ="2" />
<out put nane="genBl ackDi anond" chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</ sagmilling>
</ recipe>
<reci pe nane="Sagmill: oreAl exandrite Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput name="oreAl exandrite" />
<out put nane="genAl exandrite" anmount="2" />
<out put nane="gemAl exandrite" chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</sagm | ling>
</recipe>
<reci pe name="Sagm ||: orePyrope Ore" required="fal se">

<sagm | i ng energy="3600">
<i nput nanme="orePyrope" />
<out put nane="genPyrope" anount="2" />
<out put nane="genPyrope" chance="0.5" />
<out put nane="endstone" chance="0.15" />

</ sagmlling>
</ recipe>
<reci pe nane="Sagmill: oreCoral Ore" required="fal se">

<sagm | I'i ng energy="3600">
<i nput nanme="oreCoral" />
<out put nane="gentCoral " anmount="2" />
<out put nane="genCoral " chance="0.5" />
<out put nanme="endst one" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe name="Sagm ||: oreSunstone Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput name="oreSunstone" />
<out put nane="genSunstone" anount="2" />
<out put nane="genSunst one" chance="0.5" />
<out put nane="endstone" chance="0.15" />

</ sagmlling>
</recipe>
<reci pe nane="Sagmill: oreCatskEye Ore" required="fal se">

<sagm | I'i ng energy="3600">
<i nput name="oreCat seye" />
<out put nane="gentCat skye" anmpunt="2" />
<out put nane="gentCat seye" chance="0.5" />
<out put nanme="endst one" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagnmill: oreZircon Oe" required="fal se">

<sagm | li ng energy="3600">
<i nput name="oreZrcon" />
<out put nanme="gen¥ircon" anount="2" />
<out put nane="gen¥ircon" chance="0.5" />
<out put nane="endstone" chance="0.15" />

</ sagmilling>
</recipe>
<reci pe nane="Sagmi|ll: oreJade Ore" required="fal se">

<sagm | I'i ng energy="3600">
<i nput nanme="oreJade" />
<out put nane="gemJade" anount="2" />



<out put nane="gemJade" chance="0.5" />
<out put nanme="endst one" chance="0.15" />

</sagm | ling>
</recipe>
<reci pe name="Sagm | |: oreChrysoprase Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput name="oreChrysoprase" />
<out put nane="gentChrysoprase" anount="2" />
<out put nane="gentChrysoprase" chance="0.5" />
<out put nane="endstone" chance="0.15" />
</ sagmlling>
</ recipe>

<reci pe nane="Sagmill: oreFluorite Ore" required="fal se">
<sagm | I'i ng energy="3600">
<i nput name="oreFluorite" />
<out put nane="gen¥l uorite" anmount="2" />
<out put nane="genFl uorite" chance="0.5" />
<out put nanme="endst one" chance="0. 15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagnmill: oreKyanite Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput name="oreKyanite" />
<out put nane="genKyanite" anmount="2" />
<out put nane="genKyanite" chance="0.5" />
<out put nane="endstone" chance="0.15" />
</ sagmlling>
</recipe>

<reci pe nane="Sagmill:silent oreSodalite Ore" required="fal se">
<sagm | I'i ng energy="3600">
<i nput name="sil ent gens: genorelight: 10" />
<out put nane="genSodal ite" anmount="2" />
<out put nane="genSodal ite" chance="0.5" />
<out put name="endstone" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagmill: oreAnmplite Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput name="oreAmmolite" />
<out put nane="gemAmmol i te" anount="2" />
<out put nane="gemAmmmolite" chance="0.5" />
<out put nane="endstone" chance="0.15" />

</ sagm | ling>
</recipe>
<reci pe nane="Sagmill: oreKunzite Ore" required="fal se">

<sagm | I'i ng energy="3600">
<i nput name="oreKunzite" />
<out put nane="genKunzite" amount="2" />
<out put nane="genKunzite" chance="0.5" />
<out put nane="endstone" chance="0.15" />

</sagm | ling>
</recipe>
<reci pe nane="Sagmill: oreRoseQuartz Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput nanme="oreRoseQuartz" />
<out put nane="genRoseQuartz" anmpunt="2" />
<out put nane="genRoseQuartz" chance="0.5" />
<out put nane="endstone" chance="0.15" />
</ sagm |ling>
</recipe>



<reci pe nane="Sagmill: oreTektite Ore" required="fal se">
<sagm | I'i ng energy="3600">
<i nput name="oreTektite" />
<out put nane="genirektite" amount="2" />
<out put nane="genirektite" chance="0.5" />
<out put name="endstone" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagnill: orePearl Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput name="orePearl" />
<out put nane="genPear!|" amount="2" />
<out put nane="genPearl|" chance="0.5" />
<out put nane="endstone" chance="0.15" />

</ sagm | ling>
</recipe>
<reci pe nane="Sagmi|ll: oreChaos Ore" required="fal se">

<sagm | I'i ng energy="3600">
<i nput nanme="oreChaos" />
<out put nane="gentChaos" anmount="2" />
<out put nane="genChaos" chance="0.5" />
<out put nane="cobbl estone" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagnill: oreEnderEssence Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput nane="or eEnder Essence" />
<out put nane="genEnder Essence" anount="2" />
<out put nane="genEnder Essence" chance="0.5" />
<out put nane="endstone" chance="0.15" />

</ sagm | ling>
</recipe>
<reci pe nane="Sagm |l |: silentgens Apatite Ore" required="fal se">

<sagm | li ng energy="3600">
<i nput name="sil entgens: genorelight: 7" />
<out put nane="sil ent gens: gem 39" anount="2" />
<out put nane="sil entgens: gem 39" chance="0.5" />
<out put nane="endstone" chance="0.15" />

</sagm | ling>
</ recipe>
<reci pe nane="Sagmill: silentgens Mal achite Ore" required="fal se">

<sagm | i ng energy="3600">
<i nput name="sil ent gens: genor edark: 6" />
<out put nane="genal achite" anount="2" />
<out put nane="genMal achite" chance="0.5" />
<out put nane="net herrack" chance="0.15" />

</ sagm | ling>
</recipe>
<reci pe nane="Sagmill: silentgens Tanzanite O e" required="fal se">

<sagm | I'i ng energy="3600">
<i nput name="sil ent gens: genor edar k: 10" />
<out put nane="genifanzani te" anount="2" />
<out put nane="genTanzani te" chance="0.5" />
<out put nane="net herrack" chance="0.15" />
</sagm | ling>
</ recipe>

</ enderi o: reci pes>



